MGMT2164 2010 Quiz 1 Key
 

1. If you wanted to ensure that your business maintains a competitive edge, what should be one of your main concerns when purchasing technology? 
A. The new technology communicates with existing systems
B. Standard operating procedures are supported so that innovative employees can focus on new markets
C. The new technology is consistent with the technology owned by your customer base
D. The new technology enables you to be innovative and move into new markets
 


AACSB: Reflective Thinking Skills
AACSB: Use of Information Technology
Difficulty: Medium
Haag - Chapter 01 #7
Learning Objective: 1
Taxonomy: Knowledge and Understanding
 
2. Should a business' decisions about its technology drive its business strategy? 
A. Yes, if the decision is about management information systems (MIS)
B. Yes, if the decision is about strategic information systems (SIS)
C. There are times that technology should drive strategy and vice versa
D. No, business strategy should drive decisions about its technology
 


AACSB: Use of Information Technology
Difficulty: Easy
Haag - Chapter 01 #9
Learning Objective: 1
Taxonomy: Knowledge and Understanding
 
3. When a business is analyzing its technology needs, it should follow a series of steps. Which of the following is not one of these steps? 
A. Assess the state of competition and industry pressures affecting it
B. Determine the business strategies that are critical to its success
C. Determine the type of technology that employees are comfortable working with
D. Align technology with important business processes
 


AACSB: Use of Information Technology
Difficulty: Medium
Haag - Chapter 01 #10
Learning Objective: 1
Taxonomy: Knowledge and Understanding
 
4. Information has many attributes that help define its quality. Which of the following is not one of these attributes? 
A. Timeliness
B. Abundance
C. Location
D. Form
 


AACSB: Defining Information Quality
Difficulty: Medium
Haag - Chapter 01 #37
Learning Objective: 1
Taxonomy: Knowledge and Understanding
 
5. Having an audio file that describes current environmental factors that you can listen to while walking to a meeting is an example of the _____ quality attribute. 
A. Form
B. Validity
C. Relevance
D. Mode
 


AACSB: Defining Information Quality
AACSB: Reflective Thinking Skills
Difficulty: Medium
Haag - Chapter 01 #43
Learning Objective: 1
Taxonomy: Application and Analysis
 
6. Porter's Five Forces Model focuses on which of the following analytical steps to determine which technology to use? 
A. Determine critical business strategies needed to succeed
B. Identify key business processes that support business strategies
C. Align technology to key business processes
D. Assess your competition and the pressures facing them, your industry, and you
 


AACSB: Porter's Five Forces Model: Assessing the State of the Competition
Difficulty: Medium
Haag - Chapter 01 #89
Learning Objective: 2
Taxonomy: Application and Analysis
 
7. What is the term associated with buyers and the number of choices they have regarding from whom they can buy? 
A. Buyer independence
B. Buyer dependence
C. Supplier power
D. Supplier dependence
 


AACSB: Supplier Power
Difficulty: Medium
Haag - Chapter 01 #95
Learning Objective: 2
Taxonomy: Knowledge and Understanding
 
8. Ying Yang wished to upgrade her current home communications system. She wanted to replace her current Internet, TV, and phone to a fiber optics system. As a buyer, which force discussed by Porter did Ying need to deal with most? 
A. Threat of new entrants
B. Switching costs
C. Entry barrier
D. First-mover
 


AACSB: Reflective Thinking Skills
AACSB: Threat of Substitute Products or Services
Difficulty: Hard
Haag - Chapter 01 #100
Learning Objective: 2
Taxonomy: Synthesis and Evaluation
 
9. What term is used to describe a situation where businesses provide enabling technologies that allow people to create, modify, and oversee the development of a product? 
A. Experience sourcing
B. Focus sourcing
C. Outsourcing
D. Crowdsourcing
 


AACSB: Industry Perspective
Difficulty: Hard
Haag - Chapter 01 #104
Learning Objective: 2
Taxonomy: Synthesis and Evaluation
 
10. If you were to develop a text messaging system that was able to piggy back messages onto other messages moving through the network, and, thereby allowing users to send more messages for less money, how would you be enhancing your competitive strategy? 
A. Through focus
B. As a product leader
C. Through loyalty enhancement
D. Through overall cost leadership
 


AACSB: Overall Cost Leadership
AACSB: Reflective Thinking Skills
Difficulty: Hard
Haag - Chapter 01 #110
Learning Objective: 3
Taxonomy: Synthesis and Evaluation
 
11. If you were to create a unique industry Web site for your customers that allowed them to build virtual communities with other customers by sharing knowledge, how would you be enhancing your competitive strategy? 
A. Through focus
B. Through overall cost leadership
C. Through loyalty enhancement
D. Through differentiation
 


AACSB: Differentiation
AACSB: Reflective Thinking Skills
Difficulty: Hard
Haag - Chapter 01 #113
Learning Objective: 3
Taxonomy: Synthesis and Evaluation
 
12. If you were to focus on developing management information systems that allowed you to reduce the number of employees in the company and, therefore, reduce the price of products offered to the customer, you would be utilizing a _____ strategy. 
A. Focused
B. Below the line
C. Above the line
D. Cutting-edge
 


AACSB: Above the Line Versus Below the Line
AACSB: Reflective Thinking Skills
Difficulty: Hard
Haag - Chapter 01 #119
Learning Objective: 3
Taxonomy: Synthesis and Evaluation
 
13. If your business had two strategic initiatives this year. One initiative focused on improving customer satisfaction. The second focused on providing customers with their purchase history from any Internet site in the world. If you were to allocate 15% of your IT budget to the first initiative and 25% to the second initiative, what type of strategy are you applying? 
A. Tactical information planning (TIP)
B. Strategic technology planning (STP)
C. Transforming IS strategy (TISS)
D. Run-grow-transform (RGT) framework
 


AACSB: Reflective Thinking Skills
AACSB: Run-Grow-Transform Framework
Difficulty: Hard
Haag - Chapter 01 #123
Learning Objective: 3
Taxonomy: Synthesis and Evaluation
 
14. If your business were to analyze the ways it currently operates and determine ways to improve its operations, what type of analysis would it be conducting? 
A. Strategic analysis
B. Value-chain analysis
C. Innovative analysis
D. Procedural analysis
 


AACSB: Identifying Important Business Processes: Value Chain Analysis
AACSB: Reflective Thinking Skills
Difficulty: Hard
Haag - Chapter 01 #129
Learning Objective: 4
Taxonomy: Synthesis and Evaluation
 
15. What is the name of the non-paid, non-employee business model of collaboration used by Goldcorp a Toronto-based gold mining company in Canada? 
A. Online shopping
B. Collaborative shopping
C. Outsourcing
D. Crowdsourcing
 


AACSB: Major Business Initiatives
Difficulty: Medium
Haag - Chapter 02 #1
Learning Objective: 1
Taxonomy: Application and Analysis
 
16. What is a distribution chain? 
A. The path a product follows once it leaves the warehouse
B. The business partners involved with supplying and distributing products or services
C. The path a product or service follows from its originator to the consumer
D. The distribution list for e-communications established for any product or service
 


AACSB: Supply Chain Management
Difficulty: Easy
Haag - Chapter 02 #2
Learning Objective: 1
Taxonomy: Knowledge and Understanding
 
17. In contemporary business, success depends on minimizing the _____ in an attempt to reduce the costs of producing and selling products or services. 
A. Level of internal communications
B. Level of customer support
C. Distribution chain
D. Complexity of needed information technology
 


AACSB: Supply Chain Management
Difficulty: Medium
Haag - Chapter 02 #3
Learning Objective: 1
Taxonomy: Knowledge and Understanding
 
18. If you were to purchase a car before it was manufactured and the assembly of that car was dictated by your requirements, you would be utilizing which type of manufacturing process? 
A. Customer-driven manufacturing
B. Just-in-time manufacturing
C. Customized construction
D. Transaction-based production
 


AACSB: Reflective Thinking Skills
AACSB: Supply Chain Management
Difficulty: Hard
Haag - Chapter 02 #7
Learning Objective: 1
Taxonomy: Synthesis and Evaluation
 
19. Which type of transportation uses multiple channels to transport products from the manufacturing location to the customer destination? 
A. Hyper
B. Divergent
C. Inter-modal
D. Complex
 


AACSB: Supply Chain Management
Difficulty: Medium
Haag - Chapter 02 #8
Learning Objective: 1
Taxonomy: Application and Analysis
 
20. The complexity of SCM is supported by technology. Which intricate SCM activity needs strong monitoring by SCM systems? 
A. Multi-channel service delivery
B. Customer tracking
C. Inter-modal transportation
D. Sales force tracking
 


AACSB: Reflective Thinking Skills
AACSB: Supply Chain Management
Difficulty: Hard
Haag - Chapter 02 #9
Learning Objective: 1
Taxonomy: Synthesis and Evaluation
 
21. What is the primary focus of supply chain management (SCM)? 
A. Overall cost leadership
B. Below the line initiative
C. Run-grow-transform framework
D. Overall cost leadership and below the line initiative
 


AACSB: Strategic and Competitive Opportunities with SCM
Difficulty: Medium
Haag - Chapter 02 #10
Learning Objective: 1
Taxonomy: Knowledge and Understanding
 
22. For a moment, imagine yourself visiting your local florist to order flowers for a party you were preparing for. The florist, however, did not have the type of flower arrangement you hoped for but the florist was able to immediately find, order and deliver this arrangement directly to your home from their supplier. What kind of relationship does this represent? 
A. An information partnership
B. A collaborative business
C. Dynamic communication
D. Customer sharing
 


AACSB: Reflective Thinking Skills
AACSB: Strategic and Competitive Opportunities with SCM
Difficulty: Hard
Haag - Chapter 02 #15
Learning Objective: 1
Taxonomy: Synthesis and Evaluation
 
23. What is the difference between SCM and CRM? 
A. CRM records information about products and services; SCM records information about customers
B. CRM stores and processes transactional information; CRM stores and processes business intelligence
C. SCM manages product information; CRM manages customer information
D. CRM records and processes operational data; SCM records and processes tactical information
 


AACSB: Customer Relationship Management
AACSB: Reflective Thinking Skills
Difficulty: Hard
Haag - Chapter 02 #22
Learning Objective: 2
Taxonomy: Synthesis and Evaluation
 
24. What is the advantage of being a late adopter of technology (wait-and-see organization)? 
A. Minimizing wasted spending and loss of productivity
B. Increasing market share by grabbing disgruntled customers from the competition
C. Increasing overall revenues by cutting operational costs
D. Enhancing the reputation of the organization
 


AACSB: IT Culture - Philosophical Approach To IT
AACSB: Reflective Thinking Skills
Difficulty: Hard
Haag - Chapter 02 #62
Learning Objective: 4
Taxonomy: Synthesis and Evaluation
 
25. If you needed direct access to stored information from another functional area within your organization, what type of system would you need? 
A. Legacy information system (LIS)
B. Data warehouse
C. Enterprise-wide database management system (E-DBM)
D. Enterprise resource planning system (ERP)
